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PART - A

This part shall contains S0 multiple choice/objective type questions, each
question carrying one mark. : [50 x 1 = 50]

1)

2)

3)

4)

S)

Cryopreservation is a technique used for
(A) Crystallization of food

(B) Food packing

(C) Seedsaving

(D) Preservation of excess production of vegetables

A seed contains
(A) Stored food (B) Embryo
(C) Seed Coat (D) Allofthese

Which of the commercial classes of seed is sold to farmers:
(A) Certified (B) Foundation
(C) Registered (D) Breeder

Percent live seed = (Y-% purity)/100. What is “Y”
(A) % viability (B) % crop seed

(C) % germination (D) % weed seed

How long a seed remains viable is its:
(A) Storability (B) Longevity
(C) Viability (D) Durability
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6)

7)

8)

9)

10)

Which of the following is a natural germination inhibitor that induces dormancy?
(A) Auxin (B) ABA

(C) Cytokinin (D) Gibberellin

Which is the pigment is involved in the germination of photoblastic seeds
(A) chlorophyll (B) carotenes
(C) phytochromes (D) phaeophytin

Downy mildew disease is caused by
(A) Albugo (B) Puccinia
(C) Peronospora (D) Phytopothorae

Covered smut of sorghum is caused by
(A) Sphacelotheca cruenta

(B) Sphacelotheca reiliana

(C) Sphacelotheca sorghii

(D) Tolypesporium ehrenburghii

Ti plasmids are plasmids.
(A) Tumor inducing

(B) Degradation

(C) High copy number

(D) Mammalian
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11) In tissue culture, callus can be induced to form shoot or root by altering the

ratio of
(A) Auxinto cytokinin (B) Cytokinin to ethylene
(C) Auxinto gibberellins (D) Gibberellin to cytokinins

12) The quickest method of plant breeding is
(A) Introduction (B) Selection
(C) Hybridisation (D) Mutation Breeding

13) Which of the following process is an exception of Mendel Law?
(A) Mutation (B) Variation
(C) Linkage (D) None of the above

14) Polyploidy is induced through
(A) Irradiation (B) Mutagenic chemicals

(C) Ehtylene (D) Colchicine

15) A technique of microporpagation is
(A) Multiple root production
(B) Somatic embryogenesis
(C) Growth of micro organisms on culture medium

(D) Multiple shoot production and embryo rescue
16) National Bureau of plant Genetic Resources (NBPGR) is situated at

(A) Pusacampus, New Delhi (B) Kanpur
(C) Chennai (D) Kolkata

M-5248 =t




17) Chemicals used for gene transfer methods include
(A) Poly ethylene glycol (B) CaCl,
(C) Dextran (D) All of the above

18) Tiplasmid vectors include
(A) binary vectors and cointegrate vector
(B) cointegrate vector and multiple vector
(C) multiple vectors and binary vectors

(D) Ti plasmid based vector

19) Seedless banana is an
(A) Diploid (B) Triploid
(C) Tetraploid (D) Hexaploid

20) cDNA library originates from
(A) rDNA technology (B) siRNA
(C) mRNA (D) all the above

21) DNA of eukaryotic organisms has several repeating units of short sequences
called

(A) random repeats (B) tandem repeats
(C) mini satellites (D) all of the above
22) RAPDisa

(A) DNA sequencing based method
(B) Restriction digestion based method
(C) PCR based method

(D) All of'the above

M-5248 5. PT.O.



23)

24)

25)

26)

27)

28)

Haploid production by anther culture was first demonstrated by
(A) Bhojwani (B) Guha and Maheshwari
(C) Murashige and Skoog (D) Cocking

Doubled haploid lines can be generated by
(A) Protoplast fusion (B) Transformation
(C) Anther culture (D) RNAIi technology

Transgenic for terminator seed is due to a lethal gene along with two other
genes, which of the following is the product of the lethal gene?

(A) Recombinase
(B) Ribosomal inhibiting protein
(C) Repressor protein

(D) Protein for late embryogenesis

Sodium alginate used in
(A) Protoplast culture (B) Artificial seed formation

(C) Cryopreservation (D) Mediaas gelling agent

The male sterile cytoplasm in pearl millet is
(A) Milo (B) CK60A
(C) Tift23A (D) W.A

The existence of different varieties of rice is an example for
(A) Ecosystem diversity (B) Genetic diversity
(C) Species diversity (D) Allthe above
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29)

30)

31)

32)

33)

34)

As aresults of genetically modified crops, chemical use on farms has:

(A) Gone up dramatically

(B) Gone down on some crops but there is little or no change on other crops
(C) Gone down dramatically

(D) Gone up on some but no change on others

DNA sequence done by
(A) Maxam- Gilbert’s method (B) Sanger’s method
(C) BothAand B (D) None of the above

Father of Plant tissue culture is
(A) Gregor Mendel (B) MS Swaminathan
(C) Haberlandt (D) None of the above

Seed certification requires:
(A) Animproved variety (B) Genetic purity

(C) Physical purity (D) All of the above

Certification is not required for:

(A) Nucleus seed (B) Breeder seed
(C) Foundation seed (D) Certified seed
Marker assisted selection allows for the selection of that control

traits of interest.
(A) Genes (B) Hormones
(C) Both of the above (D) None of the above
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35) Introduction of parasites, predators and/or pathogens of the pests into the
environment to reduce the pest population constitute:

(A) Biological control (B) Autocidal control
(C) Disease control (D) None of these

36) A hybrid isalways:
(A) Heterozygous (B) Homozygous
(C) Both of the above (D) Often homozygous

37) What is the name of the bacteria known as natural genetic engineer of plants?
(A) Escherichia coli
(B) Agrobacterium tumefaciens
(C) Pseudomonas aeruginosa

(D) Aspergillus niger

38) The downey mildew disease of pearlmillet is primarily a —
(A) Seed borne (B) Airborne
(C) Soil borne (D) Water borne

39) Because of large size of Ti-plasmid, intermediate vectors (IV) are developed
in which T DNA has been subcloned into

(A) pBR 322 based plasmid (B) vector pRK 2013
(C) pRN 3 (D) all ofthese

40) Direct DNA uptake by protoplasts can be stimulated by
(A) polyethylene glycol (PEG) (B) decanal
(C) luciferin4 (D) all ofthese
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41)

42)

43)

44)

45)

Phytosanitary certificates are issued to indicate that consignments of plants,

plant products or other regulated articles meet specified phytosanitary
requirements.

(A) import (B) coding

(C) decoding (D) none of the above

Plant pathology is

(A) the study of plant diseases (B) the study of plant growth

(C) the study of plant succession (D) none of the above

Can genes escape from genetically modified crops and jump to other plants?
(A) Yes, and often do

(B) Only to some crops, but those crops aren’t genetically modified

(C) Only during rare climatic conditions

(D) No, genes cannot move from species to species without human
intervention

What is the name of naturally occurring Auxin in plant?
(A) Il-napthaleneacetic acid (NAA)

(B) 2.4-Dichlorophenoxyacetic acid (2,4-D)

(C) Indole 3-acetic acid (IAA)

(D) 1-napthoxyacetic acid (NOA)

cDNA is created from a mature mRNA from a eukaryotic cell with the use of

(A) zDNA (B) Reverse transcriptase
(C) Auxin (D) None of the above
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46)

47)

48)

49)

50)

In how many phase clinical research study is conducted?
(A) 5 (B) 4
(C€) 8 (D) 1

The major causes of extinction of different species include
(A) habitat loss and over-hunting

(B) climate change and pollution

(C) deforestation

(D) all of above

Paclitaxel, the potent anticancer drug, was isolated from which natural source?
(A) The Pacific Yew tree

(B) The Pacific Ocean

(C) A fungus

(D) A bacteria

The enzyme used to join bits of DNA is

(A) DNA polymerase (B) DNA ligase
(C) Endonuclease (D) Primase
UPOV is

(A) Convention for plant variety
(B) United States patent
(C) Convention for USA

(D) None of the above
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PART - B

This part shall contains five questions, each question carrying ten marks.

1)

2)

3)

4)

S)

[5 x 10 = 50]
a) Describe embryogenesis and seed development.

b)  Write a brief note on Seed certification procedures followed at domestic
and International levels.

Explain Bacterial diseases in plant pathology.

a) Write a note on basic concepts and scope of plant breeding.

b) Write a note on potential risks and benefits of GMOs.

Write a note on types of media used in plant tissue culture and their composition.

a) Write a note on use of softwares in drug development.

b) Describe DNA sequencing by Sanger’s method.

VVVV
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